                         DYSTOPIA OR COERCIVE POPULATION CONTROL
One dictionary defines "dystopia" as "a hypothetical place, society, or situation in which conditions and the quality of life are dreadful". Another dictionary defines "dystopia " as " an imaginary place where people lead dehumanized and often fearful lives ". Those definitions are incomplete and incorrect. "Dystopia" is the condition in which humanity will exist on the planet Earth no later than 2150 and more likely before 2100, if any human being survives the coming world-wide destruction.

KNOWLEDGE IS ALWAYS BETTER THAN THE LACK OF KNOWLEDGE. Anyone who has a chance to obtain knowledge and chooses not to obtain it is an arrogant fool who believes he/she is God on earth and above the rest of humankind. Only with knowledge will humanity survive. Any search for knowledge may not be 100% accurate or correct, but search we must. The search must continue on a periodic basis as all of humanity's present knowledge in incomplete and subject to change.  
Since the earth and the resources it can provide humanity are finite, both population and economic growth must cease sometime in the future. To use ridiculous examples to prove a point-- the earth could not support 1 trillion trillion people for even one moment and the earth could not support an economy 1 trillion times as large as the current economy for even one moment. Therefore, the following questions arise--1) when will growth cease? 2) how will growth cease? 3) what will happen after growth ceases?  and 4) how will all this affect humanity? We can debate when growth will cease, but we cannot debate the fact that it will cease. Anyone who takes the position that growth can continue forever on the finite earth is a fool. While new technologies, recycling and any other actions taken by humanity can reduce the amount of resources used per unit of economic activity/output, neither new technologies, recycling nor any other actions taken by humanity can convert the finite and limited resources the earth provides humanity into infinite resources which will permit economic activity and population to grow forever. 
Since both economic and population growth will cease, there are only three choices of the level at which each of them will peak--1) at the current level; 2) at some level higher than the current level; or 3) at some level lower than the current level. This fact raises one simple question--- at what level should economic and population growth cease that would permit humanity to survive on this planet for the longest period of time? Since the resources the earth can provide humanity are finite and limited, there is only one answer to that simple question--- at the lowest population level which will permit genetic diversity so that humanity can survive and at the lowest economic level which will satisfy the reasonable needs of all of humankind. And the word "reasonable" is, of course, subject to debate and discussion. Since almost every resource the earth provides humanity is finite, the more you use today the less you have for tomorrow.
The earth provides humanity with only two types of resources-- renewable resources and non-renewable resources. Non-renewable resources include fossil fuels and all minerals. Theoretically renewable resources include soil, water, forest growth, fish in the ocean, and similar items. In reality, humanity is using almost every theoretically renewable resource faster than it can be naturally replaced and, therefore, for all practical purposes, theoretically renewable resources must be considered non-renewable. Humanity in the past has used those resources which were the easiest to obtain, had the highest concentrations of the minerals desired, the easiest to process, and closest to the place where they would be used. In the future humanity will be forced to use resources which are harder to obtain, have lower concentrations, are harder to process, and further from the place of usage. The best example of that fact is how oil is presently obtained. In the past oil was easy to obtain, in places such as Pennsylvania, Texas and Saudi Arabia. Today we obtain oil from the Arctic, from tar sands, by fracking, and many feet below the ocean level and then many feet below the level of the ocean floor..
Compound growth is the most powerful force in the universe. If you put one dollar in the bank and you earned 4% simple annual interest, you would earn $.04 a year, 25 years to earn $1, and 25 billion years, about twice the age of the universe, to earn $1 billion. If you invested the same dollar and you earned 4% compound annual interest, you would earn the same $1 billion in less than 525 years. Comparison---- 25 billion years at simple interest compared with less than 525 years for compound interest. 

Now to be more realistic. Donald Trump, the Republican candidate for President, stated that he would cause the economy of the USA to grow at the annual rate of 3.5%. Since the economy would grow in a compound manner, that would cause the economy of the USA to double about every 20 years. In 200 years there would be 10 doublings resulting in a growth factor of over 1000, in 400 years there would be 20 doublings resulting in a growth factor of over 1 million, and in 600 years there would be 30 doublings resulting in a growth factor of substantially over 1 billion. In just 100 years at a annual growth rate of 3.5% there would be 5 doublings representing a growth factor of 32--2,4,8,16,32. And for all practical purposes, it is impossible for the economy of the USA to be 32 times as large as the current economy in just 100 years. Is not my intent to pick on Donald Trump in this essay, as all candidates of all parties and at every level of politics have taken the position that growth is the solution to all or almost all of the problems faced today by humanity. Anyone who believes growth is a solution to any of the problems presently faced by humanity has no understanding of the fact that the earth and the resources it can provide humanity are finite, the power of compound growth and the fact that the human population is exploding.  Almost all of the problems faced by humanity today were caused, in whole or in part, by economic and/or population growth. While the annual growth rate is important, the real cause of the problem is the power of compound growth. An annual compound growth rate of 2% would cause a doubling about every 35 years. In 350 years the growth factor would be over 1 thousand, in 700 years the growth factor would be over 1 million, and in 1050 years the growth factor would substantially exceed 1 billion. In just 175 years there would be 5 doublings resulting in a growth factor of 32---2,4,8,16,32-- and it is almost certain that the resources the earth provides to humanity will not permit the economy of the USA or the economies of all the nations of the world to grow by a factor of 32 in that amount of time. And if you want to dispute 2%--175 years, just examine 2% for 245 years, about the same time as from the American Revolution until today, which would result in a growth factor of 128.  I defy anyone on the face of the earth to write a paper, which is intelligent and factual, that supports the proposition that within the next 245 years the earth can supply a sufficient amount of resources which would permit either the economies USA or all the nations of the world to support a growth factor of 128.
I can state with a high degree of certainty that attempting to maintain an annual compound economic growth rate of 2% which would result in three doublings in 105 years, or a growth factor of eight, would result in the collapse of civilization. Why? Economic growth requires the use of physical resources. Without the use of physical resources, economic growth cannot and will not continue. There is a relationship between economic growth and the use of physical resources needed to support that economic growth. While no one knows with 100% certainty what that relationship is, in this example I will use what I believe to be a very conservative relationship of 50%--- an economic growth factor of eight would cause a physical resource usage growth factor of four. It is almost certain that the earth cannot supply humanity, on an overall basis, with four times the resources it presently supplies, resulting in wars, disease, and the other items set forth below describing the ways population growth will cease.

There are three, and only three, ways population growth will cease:


1) Wars, most likely with weapons of mass destruction, disease, starvation, civil strife and other horrors beyond the imagination.


2) Voluntary population control, which includes raising the standard of living of all of humanity, educating men and women, providing the most modern means of birth control to all humanity at no or very little cost, providing the safest and most modern means of abortion to all humanity at no or very little cost, changing the culture such that a man's position in society is not determined by how many children he produces, restructuring all religions such that women are in every way equal to men, and taking all other similar actions that anyone can think of.


3) Coercive population control on a worldwide basis that would be enforced by penalties, that could range from very minor civil penalties up to and including major criminal penalties.

I challenge anyone to set forth another method by which human population growth can be controlled. Two additional challenges that are similar--I challenge anyone to present an intelligent and factually supported paper that voluntary population control will reduce population growth to zero or make it negative, if a reduction in population is necessary for the survival of humanity, in time to prevent the collapse of civilization and I challenge anyone to present an intelligent and factually supported paper that within the next 150 years there is absolutely zero chance that humanity will face the choice of coercive population control or the total and complete destruction of civilization.. If there is at least a 10% chance that voluntary population control will fail or if there is at least a 10% chance that humanity will face the choice between coercive population control and the total and complete destruction of worldwide civilization within 150 years, humanity must (and I have use the word "must" purposely) immediately discuss, evaluate, debate and consider all the problems and benefits of both coercive and voluntary population control so that a decision is made as to which method of population control is best for humanity. Anyone who was opposed to the consideration of both methods of population control must show why such a discussion will presently be more harmful to humanity than failing to have such a discussion. To restate the position differently, there are two choices--- discuss, evaluate, debate and consider both methods of population control to determine which method is best for humanity or not to have such an evaluation and discussion. Those that do not want to have such an evaluation and discussion must show why their position is better for humanity than having such an evaluation and discussion. On a personal level, I cannot think of one fact that would indicate not having such a discussion and evaluation would be more beneficial to humanity and to the survival of civilization than having such a discussion and evaluation.
Admittedly, such a discussion and evaluation may not provide sufficient evidence to guarantee the correct choice between voluntary and coercive population control. However, that should not prevent a discussion and evaluation from occurring. If, based upon today's knowledge and facts, sufficient evidence to guarantee the correct choice between the two methods of population control is not available or cannot be agreed to, the intelligent action to take would be to have additional discussions and evaluations at later periods of time. We must make a choice between the two methods of population control based on our intelligence and the facts and knowledge available to us. We cannot and must not leave the choice between the two methods of birth control to be made by default. Default, almost certainly, will result in the elimination of the human species from the face of the earth.
At the beginning of this essay, I stated that knowledge is always better than the lack of knowledge and that those who refuse to obtain knowledge are fools. That statement applies to those who refuse to consider, evaluate, debate and discuss the two methods of population control, unless they show that such an evaluation and consideration would be extremely harmful today to humanity. The fact that a large portion of humanity would be opposed to such an evaluation and discussion should not and must not prevent such a discussion as a large portion of humanity has no understanding of the problems humanity presently faces and has no understanding of the power of compound growth. Humanity must not be ruled by those that do not have knowledge and refuse to obtain knowledge.
At the point in time when humanity realizes that both population and economic growth must cease and that no power on earth or in the heavens will prevent that from occurring, humanity must also realize that every aspect of society must change. Every single principle upon which the functioning of all of society is based, is based on the concept that both population and economic growth can and will continue. A number of intellectuals who are concerned with the future of society and the future of humanity have created the false concepts of "sustainable growth" and "sustainable development" in order to avoid advising humanity that both economic and population growth will cease and  every aspect of society must and will change. Therefore, at this time I believe it necessary and appropriate to show why both sustainable growth and sustainable development are false and misleading concepts that will lead humanity to destruction.
At the outset, let me state clearly that new technologies, recycling and other actions taken by humanity can and will reduce the usage of physical resources for every action taken by humanity. Any reduction in the amount of physical resources used per unit of economic activity can delay the time at which economic growth must cease. However, such reduction in the use of physical resources cannot delay the cessation of economic growth forever. Any reduction in the use of physical resources to produce a unit of economic output must be related to the power of compound growth. For example, assume that instead of using four pounds of resources to produce a unit of economic output, new technologies permit that unit of economic output to use only 1 pound of resources. An extraordinarily large reduction in physical usage of resources. However, relate that to economic growth at 3.5% per year. At that rate of growth something doubles every 20 years and in just 60 years there would be three doublings representing a growth factor of eight--- eight pounds of the physical resource would be used. From this example it can be seen that even an extraordinary reduction in the use of physical resources would delay the cessation of economic growth only by an extremely short period of time. And to repeat, for emphasis what is written above--- the reduction I used in this example is extraordinarily large. The point of this paragraph is very simple--- "sustainability" cannot exist for even a relatively short period of time, if it uses something physical
You are urged to "google" recently deceased Professor at the University of Colorado Albert Bartlett to obtain his writings that show conclusively, in my mind, that the concepts of sustainable development and/or sustainable growth are false and destructive concepts. The concepts of sustainable development and sustainable growth are ridiculous, unless those that propose those concepts state how long "sustainability" lasts. For example, if they say sustainability will last 10 years, they are also stating that growth and development will cease after that 10 years. Or to put it simply, they are not stating that sustainability will last forever. If they state sustainability will last forever, they are also stating that infinite economic growth can occur with the usage of zero physical resources and that is impossible.
While I cannot state that I read every book or publication about sustainable development and/or sustainable growth, I can state I read many of them. Not one of them truly defined sustainable development or sustainable growth. Not one of them gave a specific example of sustainable development or sustainable growth. Not even the growth in knowledge can be sustained for a very long period of time without the use of something physical. I challenge anyone to set forth specific examples of sustainable development or sustainable growth, which does not use something physical.
While it is not my intention to insult anyone who receives or reads this document, many may be insulted by it. That is their problem and not my problem. I am over the age of 80 and I really do not care if I insult any reader. The only thing I care about is that this document is correct and that it cannot be shown to be incorrect based upon errors in the math, facts, and/or logic.

Now let us look at the latest medium variant population numbers issued by the UN in 2015.  While the UN's demographers are not gods and no one can make any predictions about the future with 100% certainty, the numbers they have issued should not be ignored as ignoring them probably will lead to the destruction of humanity in the near future. And the UN's demographers are probably the best in the world .According to the UN the human population was 2.525 billion in 1950, was 7.349 billion in 2015, will be 8.500 billion in 2030, will be 9.725 billion in 2050, and will be 11.213 billion in 2100. Those numbers represent a growth of 3.864 billion (11.213 minus 7.349 = 3.864) in just 85 years (2100 minus 2015 = 85). It took from of time humankind evolved from the ape (best estimate between 500,000 and 1,000,000 years ago) for humanity to reach 2.5 billion in 1950. In just 150 years (2100 minus 1950 = 150) the human population will grow by 8.688 billion (11,213 minus 2.525 =8.688). In just 150 years the human population on the planet will grow by a factor of 4.44 (11.213 divided by 2.525 = 4.44). And the numbers issued by the UN indicate that the human population will still be growing in the year 2100. 
Before proceeding further, everyone who reads this essay must understand that the UN's demographers considered the fact that some nations of the world presently have negative population growth and that some nations before the year 2100 will also achieve negative population growth. The demographers are not fools and have considered every single factor which could affect the numbers they issued.  A side comment-- the population of the USA will grow, according to the UN, from 321 million in 2015 to 450 million in 2100, a gain of 129 million in 85 years. This represents a gain of over 40% in 85 years. A simple question--- since Americans use substantially more resources per capita than any nation on the planet, will the rest of humanity accept an increase in the population of the USA of 40% in just 85 years? A second simple question--will China with its much larger population and with its very large annual economic growth rate and with its very powerful military accept the fact of the very substantial increase in the usage of the planet's resources by the USA due to its predicted population increase of over 40%? While I have no proof of my response, my answer to both questions is NO. And if I am correct the "NO" must lead to wars over resources before the year 2100. What is your answer? I would be most interested in your answer. A very strong argument can be made that the citizens of the USA will not reduce their per capita usage of resources to offset the predicted increase in population, but will continue to attempt to rape the nations of the world in their attempt to obtain the resources they need to live at the standard of living they believe is their divine right. President George H. W. Bush stated that the standard of living of the United States, and impliedly the per capita usage of resources by the citizens of the United States, is not negotiable.
As indicated above, the population growth factor was 4.44 for the period of 1950 to 2100. While no one knows how much the human population will grow in the future, let us have some fun with numbers. If we assume that the growth factor is reduced by 50% to 2.22  for the 150 years subsequent to the year 2100, the human population would reach almost 25 billion (11.213 times 2.22 =24.89) by the year 2250. And to be very blunt, that cannot and will not happen and humanity will be destroyed before the year 2250. I will argue below that humanity will be destroyed before 2100.
Now let us look at medicine. We all know that medicine is making tremendous strides in curing diseases and extending the human lifespan. We also know that potential advances in providing electricity, clean drinking water to a large portion of humanity that does not have those items, and similar actions will extend the average human lifespan. Assume that through the efforts of medicine, clean water, better sanitation, better education, worldwide vaccination against various diseases, curing malaria and similar items humanity were able to extend before the year 2050 the average human lifespan to 150 years.  While I do not know the current average human lifespan, a lifespan of 150 years would be about double the current average human lifespan. Would the doubling of the average human lifespan be harmful or beneficial for humanity? The doubling of the average human lifespan would lead to the doubling of the human population, unless there was a dramatic decrease in the average fertility rate. Without a dramatic decrease in the average fertility rate, population would double leading to the destruction of humanity in the very near term as the earth could not provide resources for over 22 billion people combined with an increase in the average per capita usage of resources due to the increasing standard of living of a large portion of humanity. In simple terms, in order for humanity to survive on this planet for even a short period of time, a doubling of the human lifespan would have to be offset by a decrease in the human population. A mere reduction of the population growth rate to zero would not suffice to save humanity from destruction. The human population will have to be reduced. 
A more interesting question arises--What level in an increase in the human lifespan would require a reduction in population? Unless you can show that my argument above that a doubling of the human life span requires a reduction in population is incorrect, the question becomes would an increase in the human life span of 60 years or 50 years or 40 years or 10 years require a reduction in population? The more general question is-- what level of increase in lifespan would require a reduction in the human population so that humanity could survive on this planet?
The latest numbers issued by the UN's demographers set forth above does not set forth the entire story about the growth in the human population. In 2004 the UN predicted/projected/estimated that the human population would reach 9.1 billion in the year 2100.  As indicated above, the UN's latest numbers issued in 2015 were that the human population would reach over 11.2 billion in the year 2100. In just 11 years, the UN increased its prediction/projection/estimate by 2.1 billion for the population in the year 2100. This increase, and I want to emphasize the word "increase", is almost equal to the total population in the year 1950 of 2.5 billion, and it took humanity between 500,000 and 1 million years to reach that level.  Based upon that increase, one of two possible conclusions must be reached----either the UN's demographers were incompetent fools or voluntary population control is a complete and total failure. You pick the conclusion. If the conclusion you pick is that voluntary population control is a failure, then relying upon that method of population control will lead to the collapse of civilization with the deaths of billions in the very near future. 
Now let us consider global warming as a possible cause of a major catastrophe in the very near future, probably before the year 2100. If you believe that global warming is a hoax perpetrated by President Obama upon the American people and the rest of the world so that the economies of Western Civilization would be destroyed and China would rule the world, as does presidential candidate Donald Trump, do not read further because anything written in this essay could not be understood by you. Set forth below are three examples which should clearly show the destructive power of population growth on the problem of global warming. The 1st example considers only population growth, without considering a necessary reduction in the amount of carbon dioxide released into the atmosphere and without considering an increase in the standard of living such that the per capita amount of carbon dioxide released is increased. The 2nd example considers population growth and an estimated decrease of 20% in the amount of carbon dioxide released into the atmosphere that would be necessary to prevent the catastrophic events that would be caused by global warming. And the 3rd example, the worst-case example, considers all affects-- population increase, a necessary decrease of 20% in the release of carbon dioxide into the atmosphere, and the increase of 20% in the release of carbon dioxide into the atmosphere caused by increasing industrialization and by the increasing standard of living of a substantial portion of humanity. The 20% used in both cases are my estimates. The actual amount of decrease necessary to prevent the destruction which would be caused by global warming and the actual amount by which the discharge of carbon dioxide will be increased due to industrialization and increased per capita usage of resources may be higher or lower than those estimates. Those estimates are being used just as possible examples to give the reader a feel for the problem.  

First example--assume that each person produces 1 pound of carbon dioxide-- therefore total of 7.349 billions of pounds of carbon dioxide released into the atmosphere each year. To just maintain that level each person would be limited to producing 0.655 pounds when the population reached 11.213 billion in 2100 (7.349 divided by 11.213 =0.655). This represents an average decrease for all of humanity of over 34%.


Second example-- this example is the same as the 1st example, except that in order to prevent global warming the total amount of carbon dioxide released has to be reduced by 20%. Therefore, instead of 7.349 billion pounds it is limited to 5.879 billion pounds (7.349 X .8 =5.879). Therefore, when the population reached 11.213 billion in 2100 each person will be limited to 0.524 pounds (5.879 divided by 11.213 = 0.524). This represents a per capita decrease of close to 48%.


Third example--- this example is the same as the 2nd example, except that in this example we will assume that the per capita release of carbon dioxide would go up by 20%, due to industrialization and the increase in the standard of living. Therefore, we would have to assume that each person in the year 2100 would have produced 1.2  pounds of carbon dioxide resulting in a theoretical total of 13.45 billion pounds (11.213 X 1.2 = 13.45). To reach the level set forth in the 2nd example of 5.879 billion pounds each person would be permitted to only produce 0.437 ( 5.879 divided by 13.45 = 0.437) pounds of carbon dioxide in the year 2100. This represents a per capita reduction of the production of carbon dioxide of over 56% between now and the year 2100.
It is highly likely, perhaps even almost certain, that none of those decrease levels will be reached by the year 2100. The per capita decrease levels shown by the examples above range from a low of about 34% to a high greater than 56%. These examples should frighten the reader by the fact that global warming cannot and will not be controlled unless the population level is dramatically reduced prior to the year 2100. Since it is only 84 years to the year 2100, it can be stated with greater than 95% certainty that voluntary population control will not effectuate that reduction. The only way that reduction could be achieved is by coercive population control.
The Global Footprint Network, based on its many years of research and analysis, stated that humanity is currently using more resources than the earth can provide for an extended period of time. According to that organization, humanity at its current population level and at its present per capita usage of resources, is using the resources equivalent to 1.7 earths. It is important to note that the depletion of non-renewable resources such as fossil fuels, metals, and minerals that make a higher standard of living possible is NOT included in Global Footprint Network data. This includes all the tons of oil, coal, iron ore, copper, and hundreds of other minerals and metals that make modern life possible. Based on the increase in population predicted by the UN’s demographers and based on the almost certain increase in per capita usage of the earth’s resources, it is certain that humanity will increase its usage of the earth’s resources to a much higher level than the 1.7 number above before the year 2100. The higher that number is the sooner the collapse of civilization will begin. Humanity is in overshoot and by definition it cannot remain in overshoot for an extended period of time. Voluntary population control will not get humanity out of overshoot in time to prevent the collapse of civilization
In the third paragraph on page 1 of this essay I asked four questions. Now I'll attempt to answer two of those questions--- what will happen after growth ceases and how will all of this affect humanity. Once population and economic growth reaches their respective peaks there are only two answers to the question, "what will happen after growth ceases".
Since by definition each is at its peak, additional growth is impossible. Therefore there are only two possible answers, each can forever remain at its peak, or sometime after reaching its peak each will start to decline. In reality, neither of them can forever remain at its peak because humanity will be using the resources the earth provides such that some time after the peak is reached each must start to decline. In simple terms, sometime after each reaches its peak, one or more resources, and all substitutes, which are necessary for civilization to continue will become unavailable to humanity, causing a decline in both economic activity and the human population level. 
Now to respond to "how will all this affect humanity". There will be continuous wars by each person, tribe, nation, religion and group against every other person, tribe, nation and religion for the remaining resources the earth can provide to humanity and for the right to survive to reproduce. And almost certainly weapons of mass destruction will be used in one of these wars. No group wants its opposition to survive while his/her group becomes extinct. In considering what I have set forth in paragraph three on the first page, and what I have set forth in this paragraph, an additional fact must be stated. Every single day we are getting much closer to the peak levels of both population and economic activity and every single day the peak levels for population and economic activity are declining because humanity is using vast amounts of resources the earth provides that will no longer be available to humanity in the future. If we use a resource today, it will not be available tomorrow to support an increasing human population and an increasing level of economic activity. The resources the earth provides to humanity are finite and limited.
Based on the scenario I have set forth----population must reach a peak and thereafter decline leading to resource wars causing the destruction of civilization--- the only solution is to prevent humanity from reaching the ever declining peak level of population. This can be achieved only by coercive population control on a worldwide basis. This cannot and will not be achieved by voluntary population control. Remember that according to the UN's demographers, the medium variant projection is that the human population will try to reach in excess of 11.213 billion by the year 2100 and will still be growing. Remember also that the UN's demographers have considered every factor possible in making their prediction/estimate/projection, including the fact that many nations have achieved negative population growth and some additional nations will achieve negative population growth, prior to the year 2100. 
The UN's latest numbers predict/project/estimate that Africa's population will grow from the current 1.2 billion to 4.4 billion by the year 2100. That represents an increase in population of 3.2 billion in 85 years. It also represents a growth of 366% (4.4 divided by 1.2  =3.66 or 366%) in just 85 years. The only words that describe that situation are "madness" and "crazy". That increase is larger than the total population of humanity, of a little over 2.5 billion, in the year 1950. And it took humanity between 500,000 and 1 million years to reach that level of population. Is there a probability that 1 billion or more Africans will attempt to leave Africa due to the horrible situation they will face in that continent? And where will they go? Now is not the time to go into all horrible possibilities that will occur due to the African population growth. Suffice it to indicate, that such population growth could trigger events that will destroy all of mankind. And anyone who refuses to consider coercive population control to prevent the destruction of civilization due to the possibility I have described in this paragraph is a madman, unless he can show that the possibility I have described is less than 10%. The event is only 84 years away, within the lifetimes of many children born today or in the future.

According to an article written by Joseph J. Bish which appeared in the Guardian newspaper on January 11, 2016, the total population of Africa was just 477 million in 1980. In just 120 years (2100 minus 1980 =120) that population is expected to increase to 4.4 billion, an increase 3.923 billion (4.400 billion minus 477 million = 3.923 billion) or an increase of 922.43% (4.4 billion divided by 477 million =9.2243 or an increase of 922.43%). That article also stated:
In Niger, where GDP per capita is less than $1 per day, the average number of children a woman is likely to have in her life is more than 7 seven. Accordingly, the country’s current population of 20 million is projected to grow by 800,000 people over the next 12 months. By mid-century, the population may have expanded to 72 million people and will still be growing by 800,000 people-- every 18 weeks. By the year 2100, the country could have more than 209 million people and still be expanding rapidly. This projection is based on an ASSUMPTION (emphasis added) that the Niger’s fertility will gradually fall to 2.5 children over the course of the century. If fertility does not fall at all—AND IT HAS NOT BUDGED IN THE LAST 60 YEARS—(emphasis added). The country’s population projection for 2100 veers toward 960 million people.”
We are not discussing in this essay the number of angels that can dance on the head of a pin; we are discussing in this essay the future survival of the human species. Even if there is only a 1% chance that the population of Niger will attempt to reach 960 million people by the year 2100, and it can be stated with absolute certainty that the chance of Niger attempting to reach 960 million people is substantially greater than 1%, the failure of the leaders of humanity to discuss, debate, evaluate, consider, and/or analyze coercive population control is an act of madness bordering on an act of mass murder.
Since all fossil fuels are finite and limited, at some point of time in the future they will no longer be available to humanity. That is a fact that cannot be disputed. The only question is when that will that occur. Most likely oil will be the first fossil fuel which will be exhausted. At the point in time when oil is no longer available to provide the energy needed by our modern industrialized civilization, there will be a massive and violent reduction in the human population, unless humanity acts today to reduce its population. There are many reasons for that statement. However, I will only cover three of those reasons in this essay--- nothing will replace oil as a fuel to power airplanes, without oil, international trade will decline dramatically, and other energy sources will not be able to provide the energy needed by all the major cities of the world in northern latitudes during the wintertime. Nothing is available today and nothing is available in the foreseeable future which will contain the weight/energy ratio necessary to power airplanes. Industries which depend on airplanes for their success will cease to exist when oil is no longer available to humanity. Two major industries that I can quickly think of are the cruise industry and the tourism industry. These two industries employ very, very large numbers of people world-wide who will be out of work causing massive social unrest. Since I live in Las Vegas, I'll ask the question----can you imagine what the state of Nevada would look like and can you imagine the social unrest which would result if no one came to Las Vegas?

For all practical purposes, there are only two fuels, coal and nuclear power, which can propel ships to maintain international and local trade when oil is no longer available to humanity.  Coal itself is a fossil fuel which will also no longer be available to humanity. However, more importantly the burning of coal will destroy the atmosphere, increase the probability of global warming, and acidify the oceans. Also, many nations do not have local sources of coal to refuel ships that may arrive at ports in their nations. Only a very small portion of the extremely large oceangoing vessels could be converted to nuclear power and the cost of that conversion would be tremendous. Smaller oceangoing vessels and all other types of ships could not be converted to nuclear power. In addition, nuclear power has substantial risks and many ports will not permit nuclear powered ships to enter. A dramatic reduction in international trade will cause a collapse of the world's economy in exceedingly short period of time. For example, United States imports very large amounts of resources from nations across the oceans and without those resources the economy of the United States would collapse almost instantly. With the collapse of the economies of the United States and the rest of the nations of the world, there would be a violent and massive reduction in the human population.
Almost all sources of "green energy" (wind, sunlight, and tides) are solar energy and all sources of solar energy are intermittent--- the wind does not always shine, there are cloudy days, and tides do not operate according to a schedule set by humanity. Imagine a major snowstorm across the United States covering the cities of Minneapolis, St. Paul, Chicago, Detroit, Buffalo, Albany, Schenectady, Grand Rapids, New York, Newark, Boston and many others for an extended period of time. No source of energy, except oil and other fossil fuels, would provide the energy needed to heat all the homes, run all the subways, run all the cars, run all the elevators, run all the lights, run the equipment needed to operate the water and sanitation facilities, to clear the streets of snow and ice, bring in the food necessary for the citizens, and run everything else needed by those cities.  Intermittent energy sources will not permit industrialized society, as it presently operates, to continue to function.
While I will not discuss it in detail, I will state that without oil and other fossil fuels the entire food production and distribution system will collapse. It will be impossible for other energy sources to provide the energy needed for every piece of farm equipment in the world, to provide the fertilizers and pesticides needed to produce food for the estimated 11.213 billion humans who will live on this planet in 2100, provide the energy necessary to transport the food from the farm to the processing factories and then on to the consumer, provide the energy to cool and/or freeze the food so that it will not spoil, to provide the energy to run the food processing factories, to provide the energy to run the factories that produce the seeds used by farmers, etc.. And all sources of energy which will replace fossil fuels must be available 24 hours per day, 365 days per year without interruption.
I could go on analyzing and describing every problem presently faced by humanity today that could cause the destruction of civilization and the deaths of billions by the year 2100. However, this essay is getting too long and if I did not convince you that humanity must start a discussion and evaluation of coercive population control today, nothing additional I could write would make you change your mind. 
One last comment-- Many of those who will read this essay are correctly concerned by the problems of enforcing coercive population control on a world-wide basis. I concur in your concerns that the problems will be monumental. Those problems must be part of the discussion and evaluation comparing coercive control with voluntary control. HOWEVER, IF HUMANITY IS FACED WITH A FINAL CHOICE OF COERCIVE POPULATION CONTROL OR DESTRUCTION OF CIVILIZATION, THE CHOICE MUST BE COERCIVE POPULATION CONTROL AND THOSE PROBLEMS MUST BE SOLVED. AND NO ONE ON THE FACE OF THE EARTH CAN GUARANTEE WITH 100% CERTAINITY THAT HUMANITY WILL NOT FACE THAT CHOICE WITHIN THE NEXT 150 YEARS. 
Two quotations from famous scientists:  

World famous Harvard Scholar/Professor and Biologist E.O. Wilson has written "The raging monster upon the land is population growth. In its presence, sustainability is but a fragile theoretical construct. To say, as many do, that the difficulties of nations are not due to people, but to poor ideology and land-use management is sophistic".
Sir Fred Hoyle, a famous British scientist has stated--" It has often been said that if the human species fails to make a go of it here on the Earth, some of the species will take over the running. In this sense of developing intelligence this is not correct. We have the or soon will have exhausted the necessary physical prerequisites so far as this planet is concerned. With coal gone, oil gone, high-grade metallic ores gone, no species, however competent can make the long climb from primitive conditions too high-level technology. This is a one-shot a fair. If we fail, this planetary system fails, so far as intelligence is concerned. The same will be true of other planetary systems. On each of them there will be one chance and one chance only."
SINCE ANY POTENTIAL CATASTROPHE I HAVE SET FORTH ABOVE WOULD LEAD TO THE DESTRUCTION OF CIVILIZATION AND THE DEATHS OF BILLIONS, IF THERE IS A 10% CHANCE  OF ANY ONE OF THEM HAPPENING WITHIN THE NEXT 150 YEARS THE FAILURE TO DISCUSS, DEBATE, EVALUATE AND CONSIDER BOTH COERCIVE AND VOLUNTARY POPULATION CONTROL TODAY (AND NOT TOMORROW) IS AN ACT OF GROSS STUPIDITY AND MADNESS.
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